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CBSE Class 9 Maths Sample Paper Set 7

sifteRa™ 4 : 90
Maximum Marks : 90

SUBJECT: MATHEMATICS
CLASS : IX
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General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into following sections A, B,
C and D. Section-A comprises of 8 questions of 1 mark each; Section-B comprises of
6 questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section:D comprises of 10 questions of 4 marks each.

(iii)  Question numbers 1 to 8 in Section-A are multiple choice questions where you are
required to select one correct option out of the given four.

(iv)  There is no overall choice. However, internal choices have been provided in 1
question of 2 marks, 3 questions of 3 marks each and 2 questions of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted,
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@ ug-3f / SECTION-A
9T WEAT 1 | § 8 ydS T 1 3ok ¥ | vk ued W uR fased g e ¥, W @
T W T TR W faeed S
Question numbers 1 to 8 carry one mark each. For each question, four

alternative cheices have been provided of which only one is correct. You have
to select the correct choice,

1. 4 yBr3fFamwat. 1
8 16 24 18
@ 3 ® 3 © 3 (i
The value of 4 /28 + 347 is:
8 16 24 18
2 - ol - d =
@ 3 ® © @ 3
2. REEERp)=a? + Tlx + KT YAR 4T AT AL 1
(a) 40 (b) ~28 © 28 d 5
If — 4 is the zero of the polynomial p(x) = x® + 11x + k, then value of k is:
() 40 (b) —-28 () 28 d 5
3. fendl agu A sifererdn IE e 8 - 1
(a) 0 L 1 () 2 (@ 3
Maximum number of zerees in a cubic polynomial are :
@ o0 M 1 © 2 ) 3
4. SEIRa2 + 8y + 157U 2 + 3x — 10 W IS RES 2 : 1
(a) x+ 3 (b) x+ 5 () x=-13 {(d) x-3
Cemmon factor in quadratic polynomials x2 + 8x + 15and 22 + 3x — 10is:
{a) x+3 by =x+35 © =x-35 & x-3
5. AABCHLA+4B =105 4B+ £C = 12000 ZBFI WA & : 1
(a) 65° (b) 80° © 35° (d)y 45
If in a triangle ABC, LA+ £B = 105°, 4B + £C = 120" then /B is:
@ 65 (b  80°  35° (d) 45°
6. FuR Gufgag T ABCH NfEARTHEME YBF AR 1
@ 45 () 60° © 30 (dy o0
A rt. angled isosceles triangle ABC is right angled at A. Then ZBis:
(@) 45° by  &0° () 30° d)y 9o°
7. fag(-2,5 fmagutn & fem }, =v 1
@ I by 1 © I @

‘Point (-2, 5) lies in the quadrant :
@ I M 0 © T @ v
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8.  alxty Mx y)# (1), BfF ARx= y@ o 1

@ () =) b))y
© (Ey)=(x~-y @ @&y=(-xy
If x# y, then (x, y) # (y, x), Butif x=y, then
@ xy=( by  (=y*(y)
@ ®E=0Fx-y @& &Y=(-xy

@us-&/ SECTION-B
UYT HEEr 9 § 14 ¥ welkes % 2 31 §)
Question numbers 9 to 14 catry two marks each.

9. 957w 055 & A B iy wend fafau 2
Find the two irrational numbers between 0.5 and 0.55

10 UAETE WIS 22 + 2 - 2y — 1 2
Factorize: 248 + y? ~ 2y —1

1. 3faw gdufaam = ydm = (103)° & 9 9@ S 2
Using suitable identity evaluate (103)°
12, & 7 aipfa § Ak AC=BD Al fag FINMTAB=CD 2

A B C D
In figure, if AC = BD, then prove that AB = CD

A B C D
13. & w apfs ¥ 3l AB ||CD, LAPQ=40° W /PRD=118%l x, y & ¥F ¥4 2
i)
o P B,
40575\
L 113:
€Q RD

A P B,

aTwaT/ OR
@ 7 SFRIH AB || CD || EF @ x 2 y=3 : 28 2 1 A il HAFTTH
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18

4. Wﬁgﬁmv&waza}{%wmaﬁa’rmycm AAT10 om Tt T H ATEA
[ Ty

Find the area of a triangle when two sides are 24cm and 10 cin and the perimeter
of the triangle is 62 cm.

@ug-¥/ SECTION-C
U9 e 154 24 F v & 3 3em ¥
Question numbers 15 to 24 carry three marks each.

15. 1
(729) 6,1 T Fa Sy
1
Find the value of (729) 6
3gar/ OR

<afee s 0,238 1 B w9 ¥ feran s W & S=@fH p, q PlEEaW g #0
q

Show that 0.235 can be expressed in the form ‘E . where p and q are integers and
' q
q#0.

" 16. R .
R a2 + b fi5 = Mmaambwmmmﬁm

V5-3
Find the value of a and b, when a + b 15 = j.:-i Jj

17. ap a1 9 5 1

THEYE FIfq: 27p° — — — = p? 4 =
T L

Factorize 27 p3 -1 -g— P> +

216 P

1
4
averaT/ OR
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a® — L H IEETS TR |
Factorize : a° — b°
18.  ARfx=2 A x =0 FGIR 243~ 522+ px + b 1l p 41 b F1 AR 7 HIFAL) 3

If x = 2and x = @ are zeroes of the polynomial 2x3 — 522 + px + b, then find
the value of pand b

19. ‘ » .
faz FIRY B Brgss ol = 9m 180° gt ¥
Prove that the'sum of the angles of a triangle is 180°.
AT/ OR ' -_
fag wifre 6 =i < el ves wir=a s €, divifgg s st 9 )
Prove that if two lines intersect, then the vertically opposite angles are equal.
20. @ W FFfa ¥ AC=BC, £ZDCA=/ECB @ul ZDBC=/EAC @ fag =ifST 3
DC=EC
D
A C B

In the given figure AC= BC, £ DCA = £ ECB and £ DBC= £ EAC

Prove that DC = EC
D &t

A cC B
21 AfE U BS % Q0 amn W AT A ol s & ) il 9o o e F 3
FI0 F WA B, @ AT B waham € €

Prove that “Two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the included side of other triangle”.

22, f@ ABC # fag B %1 C ¥ 491 AC @1 AB ™R &% 7T ©¥ BE a0 CF ¥ 9an 3
BE=CF W, g +ifw fw (i) AABE= AACF a7 (i) AB=AC
A .
F E
B C
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ABC is triangle in which altitudes BE and CF are equal. Then show that :
(i) AABE = 8ACF and (ii) AB= AC

B C

23. & v ot H PQ T RS <) el € S i uw Tl & o €1 W oA fRw AB, 3
TdW pQ @ fag B W owit ¥ it Wi e g BC w98 FX guui RS § C W
THGN § 991 T WAk & ST CD ¥ 3few vy ® ok §1 fog WiSwAB | cD #1

P B Q

R C s
In figure PQ and RS are two mirrors placed parallel to each other. An incident
ray AB strikes the mirror PQ at B, the reflected ray moves along the path BC and
strikes the mirror RS at C and again reflects back along CD. Prove that AB||CD.
Q

P B
D
A
R C's
24, TH QT TS I AH H ¥ O FHRR YT 25 m G 10 m ¥ 1 STEHRR YSIY 3

14m 13 m §1 T8 € %1 S @ FT
A field is.in the shape of a trapezium whose parallel sides are 25 m and 10 m,
The non ~ parallel sides are 14 m and 13 m. Find the area of the field,

€|ug-g/ SECTION-D
U9 WA 25 | 34 F UIE H 430 ¥
Question numbers 25 ta 34 carry four marks each.

23, Ji+1 3 ~1 . 4
ofg x = X205,y = HEa? 4y + xy T A TR SR
vz dur VR e s B
Ifx = B +1 \/3— -1 , then find the value of ¥2 + 32 + av.

LY =
G-1Y" B

arerat/ OR

https:byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

@BYus

The Learning App

A x =327, A% - L wam i
X
fx=3-27,find x* - L
X
-3 3 -3 (
26. Wﬁm(—g}_) 4 x J(_2§) : < (.5.) 4
16 [ 9 2
-3 w3
_ 81Y+ _ [(25)2 5)2
S lify : | — = R s
ey (3] {51 2]
2. WA PREE T (a + b+ ) — (a - b~ )+ 4 - 4 4

Simplify and factorise (@ + b + ¢}’ = (a = b = ¢)*+ 4b* ~ 4

8. FRFa+b+c=6TTMab+bc+ca=11da"+b" +—3abc
Ifa + b+ c=6and ab + bc + ca = 11, find the value of a® + b* + ¢ — 3abe

2. T plx) =ax’ - 35 +4 M qlr) =26 - 5x+a B (x - 2) & W &3 W wwe p 3w g
g p~2q =4 @, 1l a 7T FISY
The polynomials p(x)=ax’~3x*+4 and q(x) =2y~ 5x +a when divided by (x—2)
leaves remainder as p and q. If p—2q=4, find a.

30. fag A(~2 -2), B, 0) C(0, 4) G D (-3, 2) F WH W TG HITC ABCD 1
sgpta wify wu fafay fF, fag A v D fon wgata & 82
Plot the points /(( =2, =2), B(6, 0), C(0, 4) and D (-3, 2) on the graph paper.
Draw figure ABCD and write in which quadrant A and D lie.

3. ik e TS @ ) aweR @il 9 wR ) g it fe ara: il & aafgaers 4
T 3T T £ .

If two parallel lines are intersected by a transversal , then prove that bisectors of
the interior angles from a rectangle.

32 AABC @& wafgarg e § fsm § AB=AC! &1 BA &I D 0% 30 FHR g T 4
fmBA=AD ¥ fag #ifee fv ~BCD & mam # 1
D
A
B C
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33.

AABC is an isosceles triangle in which AB = AC. Side BA is produced to D such
that BA = AD. Show that £BCD is a right angle.

D
A
B c JUar/ OR
@ g et § AC=AE, AB=AD @ £BAD = ZEAC | fag &\t BC=DE
A - E ‘
B D c

In the given figure AC=AE, AB=AD and £ BAD = £ EAC Show that

BC = DE
A A ™ - E

B D C
AABC % BC ¥ W @ fag D 99 E 379 ¥aR & ff BD=EC 91 AD=AE| fag

IS AB=AC'
A

B D E T

In AABC points D and B are on BC such that BD = ECand AD = AE, Prove that
AB = AC
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34.

B D E C

fag SR 5w @ & 11 o @il w1 am, 91 geneil 5 a9m @
Show that the sum of the three altitudes of a triangle is less than the sum of the
three sides of a iriangle.
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